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AZHAY SAE  50,000*70F*2%}7| 7,000,000|4# oot 22
29. L2+ 41,601,000

D3N E¥eEH| 42,0009*20F*12¥ 10,080,000\ A2 Ol g2
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O{ 20| YT FH|ZE 95000*20F 1,900,000
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stES SRR 10,000*16H*11E 1,760,000
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7. SUsorS 310,290,996

AX W lAH| (6, 20 + HHEES) 310,290,996 310,290,996 Slztehet R BYE
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HY-LIVE ZA2aAY s A2 Y A 59 25,000,0008*14 25,000,000[1% »saust nasus
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Q|8 4=2(IC-PBLE 2 21 H|) 10,000,000 * 2Z & 20,000,000 # =8 ee craraEs
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= =l = 0f| Akot AELHY H| 3
4100 4110 4113 5. 335Y 1,600,000
=5 aERE QTS BB4Y 1,600,008 1,600000|42 594 595

6. Elg g 5,240,000

X Z4E 5,240,0009 5,240,000(418 524 2
7. 0@ 7|EIY 16,844,000

MYEY Y 1Y) 16,844,0008 16,844,000|M & 52X 2 E
8 AtEg 37,000,000

A MALR R W X2 =T 37,000,000 * 14 37,000,000|M2 524 524
9. ShliolE WA 10,000,000

Sl Q&5 100,000 *100Y 10,000,000|M & =X X =H g
10. 2= 0IAI EX = 2,600,000

Aof L2 150,000*1F*23] 300,000 A2 CHEHAIT2HR

" _ CHeh wEtEl

oH=0f, 20, 50| 50, 20f, 2, 2H Q0,2 A|0t0] EX|Z 100,000 *1E*2%[*77H=0f 1,400,000

Ao EX| 2 450,000*1F*23] 900,000
1. 2F0AI KB = 700,000

&h=0],20{, 50|, 550, £0],2HZ,2H 210f,2{A|0t0] X{FH & 50,000 *1H*22|*77H=0] 700,000 d=an= dudaze
12. dnAAR 2,100,000

Q4+ ST 32 YD MALE 100,000 +7H*33] 2,100,000 " "eenen enmess
13. QIEI= 40,500,000

WY m4 500,0008 * 5 2,500,000{A2 =2H|X X2

NgYAMFHE ML CF 2,000,0008 * 3Y 6,000,000 =8

NSANSFE WS ST 5000000 * 1Y 5,000,000

NgYAMSHE ML AZ 4,000,0008 * 3Y 12,000,000

NSANSFE WS BF 3,000,0008 * 5 15,000,000
14. A2 1,500,000

IHEAZASH 22+ 300,0008*5Y 1,500,000[A18 2HH M SE
15 dAugag 72,000,000

(2) AIZEE[RFQISE 500,000 %128 6,000,000| A2 Oj2iAI T 0 S

(2) HS2 500,0002128 6,000,000| 2 2 2

(1) 2839 500,000+ 2H*12¢ 12,000,000

(1) #8228 500,000 *4H*12¢ 24,000,000

- 50 -



=

=

=

=

El
El
El

El

El

a
El
a

A
At
At
At
At
At

o

o

o

o
O
o]
o
o
o

q
i
1
i
q

S
X
X
S
S

12,000,000\ M2 7|25 of &

413,940,000(M 2 &7
141,465,600(A2 &%

555,405,600
413,940,000

141,465,600
1,113,746,400|M& 7

5,367,552,000(M& &7
2,783,676,000|M2 &7

7,200,477,600
5,367,552,000
1,832,925,600
1,832,925,600(AM
3,911,278,400
2,783,676,000
1,113,746,400

2!
=
=
=

2l

=
2!
=

<2l
=
<2l
=

1274

e

o
=

2| * 127

e

@+ 1271
= 11,788,800 * 1274

2 34,495,000 * 1274

= 231,973,000

HEh2 92,812,200 * 1274
- 5‘] -

7]

=]

o2 ELS 447,296,000

SIgEEF 152,743,800

tst
tst

A
A

o
=
|

|

2023 T2 of & 12,000,000

i
i

01 Abgt

13,876,531,050

o
— o m m - m
o El z = E
oF = ke ke %0 ul
ol B 2 2 g 3
u — |O )
=7 |= o #r & 2
= = = o -
0 w0 o o = to
=
o o o o S S
X z z g g
o o o o o o o o o o o o o o
o o o o o o o o o o o o o o
o Q 9 9 9 9 9 9o 9 o 9o 9o 9o 9
o o o o o o o o o o o o o o
o o o o o o o o O O o o o o
o o o o e} [<e] e8] [<e] ()] [9)] < < (=} o
S 6 © U W W W W ¥ ¥ & «& & &
- - - - 0N ™M - -
Br
=
]
K
£
T
o _
o <r _
8 -
S - 8
g = o
a ) S 8
A\l < (=)
i o o o o S =
T £« oo S g
¥ 5 Mﬁ by + N 10 20
o of ofl = = o u
S g & 3 3 o s
o IS = <+ S 2 o
S s 8 3 T ¥ S ® 2 W
S O =} 30 < o o
oo 0 <k ol s o 0
M oou or P 10 M, m__.u oF (=
RO o Moo pr @ g omw Ik . oo w0
Bool o #r RO L oF Mo_. 3 ﬂ_. K= kD
/= o B B M oo = N U B U o0
o =~ &~ & H O ¥ ¥ g o gk o
- = o o .Tor . ORI N .o H &
2 = 2 2 =
o
()
=
Of
el
k=3
o .
to
W
=
2 o
(E
100
M_._l
S e
(E]
1
o
K S <k
T H




#

= _ . & - - .
...Aluu_ o [ [ o i} a0 w_ww o o o %:
o < < o < < o = = ]
il E =) 5l | 5l 5l 2 ] 5 5 =
o v = © = — s =3 = = Ly
— kad = v b3 K vy K = -
= 3 ' p ok i ok o+ Y i - ok £
p Ko Ko B < o o i
i < o o < = <
= o ofu Y ot ofu o = o o oy
> sr_m g ¥ T & T z Es & ES ks =
<2 = = o o o o
o o o o o o o o o o o o o o o S S
E8EE8E5E88888¢E88888¢8¢8¢88¢88¢888¢8¢8¢88E
o J N 3 . ) . ). d d 3 . ) ) ) ). > ). 3
= W Mw Ww Mw W, O ™M W O wWm n S O < W N o ) % % % % © % m % m o © s
o &3 23 5 22333 4w =3I m, Bl N M M m N ;N N O N N < S U O 0
N - - - -
ol
=
[aV]
X
ofl
o
o
o
™
ofll W/_o
=
R e w
X ~ i
* by do
m o &
5} 8 N
ar © N, =
i - = &
< ] & =
o m <
Kl
@ ke =
&o W N uﬂnﬂ
¥ B 3 ] B il -
ox @ 3 S o e
N o N n S — o R
oo ox i o =) x ol N
S T o = ol S 5 :I o <
fof nwv XN | N = n oF ol 5 5
X o n%_ b H0 — Q o ol.m=_ w mE o m
H S S w Gl - H T 2 S * & S
o R © ot o * o ~ O S . ofl o
S L S 8 = ofl o~ 0 N E3 S a1 % 3
= — S [=} fo T o ok am A > Pl S ©
3 & 2 o5 S o ofl * - - S S =] 1
S no o S S =~ o oF. a S s = =
S uw Mo 2 ~ o = Mo T oF ) ) S S o
) ) - I+ S S | o o no oY S S o ug
o v 1 @o o B 0 & S o of S ] - y s 2 o W
u 2 2 N 2 0 ut o © )
momom o o ) oI o 2 2 omn o T
oo I BTN w0 g 0 o g R g W LEoh =y
il NO - T g0 pon O & o © 1 = oo o ul o 1 =
%._ 1 .Ju .“_mm_v BoSg ol g0 uwl g o & M oo Mo 3 g E + I I I+ 5 ...A.._
I Ny I+ o+ I+ 1o Pl o1 &I o0 @m0 B0 @D I
R o= " o o o fop O U0 g0 o0 uo { 9 fo ®W B B W -
I fo fo o - r ! y - x 0 BE WY N
L S Sl VY T T T o u_.a_,uu_]4%u4cHHHH4DWno
ol > = W x P % - o @ o = R R0 fo oo oo oo oo o oW EERE OB E
R R WA A T e Y o mY Y KPS
W e A A da mii i & & m " I e
T W 75 o8 W oo B of op of of o ok oF ol OB o o0 X fr oo il om of n_w”_ _o|”_ g ..er 5
[N VRGOS | S VR rex B < I E I E N E I E R Y N E I E | m_ E| _|._ N ol B! B = E| | Ma B °
%) < = i o0 u — o o < Mu — i
M o o
=
Of
<
=3
o
T T
I+
%0
Eil]
T
(E
100
M_._l
S
E
ol
S <
ST H

52 -



= =l = 0f| Akot AELHY H| 3
4100 4110 4114 SHRO|ZAF M EE 7HUH|(R T 2,500,000 22 HHA|, AFHRF MU 11% BEHE HE) 50 16,500,000|ERICA =M 28l
B2 mE RS DYHHLEEF *27,5002*12701 &

07 ABHIBE X g 1957675450
1. WAMESAFE|E| G 1,117,482,650
WAMNSHFE| RIS 1,117,482,6509 [1. M ARl E[RSChFEN| E|Z$Ho| StuHEE 40%) : 1,117,482,650| M2 SR QIAtE!
20232 E| 20| HAF 232, L@ B[ +H(TAM E|Z+Eo| SusEHE 40%) : 2023.8 E A FHAH 113, 2
AHE E| =20 &) : 63,482,650¥]
2. nAMSAFE R G 440,192,800
WA FE| R 4=EF 440,192,800 440,192,800|M 2 Z2H QAL
4115 15,840,000
AlZtzolz
01 AlZtZel& 15,840,000
1.2023 Y of &= 15,840,000
2023 T3 o4& 15,840,0008 15,840,000|M & 71&% Of4tEl
2. AzZtzo|z 0
1. APHOHS MAD R CHZE 0,000 * 1Y * 12] o|Me Areithet re M E
4116 6,414,530,190
S8Zog
02 YoMzt 621,250,000
1LY ZAE 324,000,000
AR 5,400,0002*602 = 324,000,000 418 2K 2 &
2. SHu ZAR 27,000,000
ZALZ 5,400,000 %52 &} 27,000,000|M2 2HH 2H
3.8t 0] ZALE 45,000,000
AlZHEE EF7F 50,00094*45A] 7H20H 45,000,000 418 2K 2 &
4. ELR 2,500,000
ZHZAZ  500,0008*53] 2,500,000| 418 2% 2 &
5. FULY ZAE 97,200,000
AR 5,400,0002*182 %} 97,200,000/ M2 ZAH 2A
6. SHRlw Y ZALE 10,800,000
ZALZ 5,400,000 &} 10,800,000|M & =X X =H &
7.5t=50] ZALE 33,750,000
AlZ+Eh EF7F 50,00094*45A] ZH159 33,750,000| M2 2HH 2A
8. Summer School ZALZ 81,000,000
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el iy = Of| &kH tHEWY H
4100 4110 4116 Summer School ZHAFZ (7|2 0] AHEl =) 4,050,000 *2 H*23] +5,400,000 2 *5H*23| +1,350,000 &4 *4 F*2 81,000,000|ERICA 2% =H &
RS megs Egzto|lg 3|
10 7|EFZE 5,618,143,190
1.2023 Y of &= 5,760,000
2023 T 0f| & 5,760,000 5,760,000( M2 7|ZX OfAtEl
2. AHC|E0] ZAE 40,500,000
AEC|F0| ZALR 150,000 *45A| 2H+62] 40,500,000( A& =HH 2 E
3. 7B ZAF R X RE 2,400,000
7|Et =X ZE 400,0002*63] 2,400,000(M2 2HMH =X E
4. X nZEXPY 577| EHLOR 18,750,000
EHLUANZ(UWEZALR) 450,000 * 73] * 17| 3,150,000( M2 AT 2OE|
N 4gnsd
EHZAZ(QABZALR) 1,200,0008 * 133 * 17| 15,600,000
5. G-CEOIMY 327| E¥Zolz 6,400,000
EHZAZFLQ MOlL 1,000,0008 * 13] * 17| 1,000,000 2 AAT2CHE
dgnsd
EYHUANZ(HEZALR) 450,000 * 43 * 17| 1,800,000
EHLAZ(QEZALR) 1,200,0008 * 35| * 17| 3,600,000
6. &4siAMPIIY 167| EHZOE 9,600,000
EHLAZER|Z2) 1,200,000 * 83 9,600,000 2enedts zeasy
7. QM REFEIIY 207 LR 9,600,000
EYHZAIR(QIEZALR) 600,000 * 133] * 17] 7,800,000/ M2 HAIMB st
ddusd
EYHUANZ(HEZALR) 450,000 * 43 * 17| 1,800,000
8. WAl AtLY MBA WS 1P EdZolR 33,600,000
ELLUANZ(UWEZALR) 200,0008 * 8AIZH* 163 * 17| 25,600,000| M2 A 2CHE
o 4gnsd
EHZUAZ(ZAZALR) 2000009 * 4412t * 103 * 17| 8,000,000
9. 2m|zl/0&7t= QY EHZoE 16,000,000
EHLUAZ(QEZALR) 800,000 * 205] * 17| 16,000,000 2eneds zeasy
10, Egzoz 1,027,536,000
ot O{ZALE 131,600,0002*127H-2 -500,000,0008 -51,664,000% 1,027,536,000|X & 2HH Fx 284
1. A2 49,300,000
CHEH CHA| QO] ZHALR 65,000 %604 ZH64= @1+t 7| 46,800,000|1 A2 MK =K 2
o E|
Cfehel CHAQ ol I RAC|H|0|Ef 200,00080*25t7| 400,000
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X|E (EH91:2)
e =l = Of Aty AELHY i
4100 4110 4116 Ed QIEF I 35000*30A|7H23] 2,100,000[4& =HH =M a2SE
= nEes Segelz 12. §gZoz 5,500,000
F=23 £2Z 400,000*10%] 4,000,000/ M€ I HAN =8
SG&ZH £ 30000053 1,500,000 =8
13. SHt SRLOFFHEIO| ZALR 121,920,000
STHRAL ZAFZ (MAJING/LIZHUANGYUAN/ZHAOMENGMENG) 1,920,000 *3%*1271 & 69,120,000/ M2 FH AN x|
JOHEE WA ZALE 2,200,000 *2EH*1274 2 52,800,000 =8
14. S 2HH 1,610,565,000
) ZALE HSSHI) 41,000*45A| %4015 73,800,000 A2 O|2f QI x| 88
(2) ZALZ HSSHI) 41,0009*45A|$*101H=2 18,450,000 a%s
() ZA= M|t 41,000*45A=*100HS 18,450,000
Q) ZAE A E ™I =AU 41,000 *45A| *500HS 92,250,000
() ZME ZY(EdHh  41,000*45A|5=*701+ = 129,150,000
@) BALE BHSH 41,0009%45A| 41010+ 18,450,000
(2) ZME HAFEISHEHQER]) 41,000*45A|5=*201t= 36,900,000
(2) ZAIR HSsh(ZZHIA)  41,000*45A=*101+= 18,450,000
() ZAE HSEHAZXAY])  41,000*45A| 4514 83,025,000
() ZME HSSHEIT Q! Lotet|abd) 41,000 *45A| =*3510H = 64,575,000
() ZAE HSEHENHEE, AZEE)  41,000*45A|=+951H= 175,275,000
(2) ZALE HFLIAHO|MC|RIQIE  41,000*45A|=*1510+= 27,675,000
(2) ZAE T 41,000 %454 =*2510HS 46,125,000
() BME AXIHEIF USR] 41,000 *45A|F=*5510= 101,475,000
(2) ZAE WHSHEEQIES) 41,000 *45A|=*1510H 27,675,000
(1) ZAIE 2™ E (S IPY) 41,000 %454 =*481HS 88,560,000
(1) ZAE Ot S A (B EIPE) 41,0008 *45A| =*24 10t 44,280,000
(1) ZAIE ME8324EEIPY) 350008604 =*901HS 189,000,000
(1) ZAE 48R EEFIME)  35000:*60A|=*1401t= 294,000,000
(1) ZALE FZHEH(QESER]) 35,000 *60A|5=*301HS 63,000,000
15. HgtE by 216,000,000
(1) MR EHISHIE)  450008*30A15*1601+S 216,000,000 1% "iden=e uz e
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= =l = 0f| Akot AELHY H| 3
4100 4110 4116 16. EZ 5,500,000
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